Opérations avec deux fractions mixtes (F)

Nom:

10.

Date:

Calculez chaque résultat.

5212 =
53-3; =
shxal =
55 +4= =
52+1= =
52 x 13 =
53423 =
5-—2- =
5%+2— =

Note:
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Opérations avec deux fractions mixtes (F) Réponses

Nom:

wn

10.

Date: Note:
Calculez chaque résultat.

2 17 5 12 4
37353735 3 T 1 =4
1 1 16 10 6 2
37%3 373 3 T 1 %= °2
1 1 16 3 48
5§X1§ = ?Xz = F = 8
51,43_11.55_11 13_143_13_13
27713 2 713 2755 110 10 10
1 Lysl o260 1L 286 143 10
19772 1972 33 19  '19

35 11 35 280 140 8

——1—=—+—=— —:—:—:4—
> 68 - 6711 66 _ 33 33
3 1 43 4 172 43 1
(X3 = 5%3 5 w T % =7
3 3 23 11 34 17
e R

1 11 5 6 3
BB T 3725 3 T 1 %8
1 1 21 5 21 2 42 21
2T T TS FX5 T 0T 10 T 0
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